2007/07

(Factor Analysis)

1.1.

10

1.2.
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lading
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h2
h?
30%
2.2 1.8
1.3.
1.4.
SAS SPSS

factor

0.30

SEM; Structural Equation Mode



I1
AMOS EQS LISREL

1.5.
(Principal Factor Method)
(Principal Component Method)
(Likelihood Method)
1.6.
1.7.
2.1.

proc calis



FACTOR
/VARIABLES Q3 Q4

Q6a to Q6n

/CRITERIA FACTORS(3) -

/EXTRACTION PC
/FORMAT SORT
/ROTATION VARIMAX

/CRITERIA
/EXTRACTION
/ROTATION

FACTOR

/VARIABLES Q2 Q3
/EXTRACTION PC
/MINEIGEN(1)
/FORMAT SORT
/ROTATION VARIMAX
/SAVE REG(ALL)
/PLOT ROTATION

2.2.

—

—

MINEIGEN(1)

PC

MINEIGEN(L)

VARIMAX

~FAC

Q8a to Q8¢

—

Facl Fac?2

PC

3)

PAF



2

.3

1995 x x
(h9)
0.71  0.00 0.50
0.77 -0.15 0.62
0.67 -0.15 0.48
0.69 -0.12 0.49
-0.24  0.72 0.58
-0.28  0.59 0.43
0.14  0.71 0.52
2.47  1.14 3.61
%) 35.3  16.3 51.6
1-4
1.00 0.40
3.61
100%
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3

2001 x x

4.

n=764
Chi-square=154.97 GFI1=.98 AGFI=.95 CFI1=.91 AIC=218.97 RMR=.09 RMSEA=.04

-©

20,

@

@

-©)

@

-6 -

1996

X X X

df=34

p=.12



3.1.

99 SPSS
99

missing values

3.2.

3.3.
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SELECT SPSS

1993
1985 10
2002 AMOS, EQS, CALIS
1986
1979 2
1992
1998
1998
2007 Amos
1993
1988
1999 AMOS

http://aoki2_si.gunma-u.ac.jp/lecture/mva.html
http://kokol5.hus.osaka-u.ac.jp/~kano/lecture/

http://www.ec.kagawa-u.ac. jp/~hori/spss/factorlink.html
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1993:209, 222

nfact= 1
proc factor rotate=varimax;
var g6a--q6g;

proc factor nfact=4 plot rotate=varimax;

var g6a--96g;

method pp-215-

proc factor method=prinit nfact=4 plot rotate=varimax;

var g6a--q96g;

D2 factorl factor?2

proc factor rotate=varimax out=d2;

var sl5a--sl15f sl6a--sl6e;
proc sort data=d2; by f26;
proc means data=d2;

var factorl factor2 factor3; by f26;
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